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import numpy as np 00 \\\‘¥
xdata = np.array([1,2,3,4]) —0.2
ydata = np.array([1,8,9,10]) 0.4
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def df(x):
return (6.0/x**7.0)-(24.0/x**13.0)
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ode - oscillation(25£5) fft(2553)

BulerFZ LT\ RBOREHATRAZH <. FFTIC & > T/AHA62.831853DsinBEIMN E D & S CEH|E N BN ERND.
BRI UTo/NREHL%0.001E UT, ZAHREAtZ0.1# & LIZIERIC200M £ TOIRDEWE 2*np.pi*(3%62.831853) = 1184
def euler3(x0,v0): THBDEIERLT,
vl = v0 +(- k * x0) * dt
xl = x0 + v0 * dt def func(x):
return [x1, vl] return np.sin(x/62.831853)
t, dt, k=0.0, 0.1, 0.001 X = np.linspace(0, 1184, 1184)

tt,xx,vv=[0.0],[0.0],[0.1]
for i in range(0,2000):
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